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T of substoince Yhi
operties a solvent should have to be suitable for recrystallizing a
ar organic compound?
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In extraction experiment:

1) Why should the stopper be removed from the separatory funnel before liquid can
i
ithdrawn through the stopcock?
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2) What are the properties of a suitable solvent for the extraction of an organic solute

from an aqueous solution? L/ ‘
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3) What effect does partial miscibility of the two solvents have on the efficiency of

Yecuce +ue G‘Pﬁt‘ctmﬁ(j = b -L\Zﬂx{ (O, _aw
SM'C\‘@J’\CC’B w\l Yoe Le ?
‘ 4

~ the extraction?

. ask ' recieve

Scanned by CamScanner



mn«g\;{ ALY S M

. : Wl ofedfease & WE
~ 2)  Which is more soluble o-nitrobromobenzene or p-nitrobromobenzene?
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 has higher melting point o-nitrobromobenzene or p-nitrobromobenze
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II . Which compound react fastest with bromine / acetic acid --
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4) Why it is important that the cooling water in the distillation apparatus enter the

awd soest affect wn o

condenser jacket at the lower end and exit at the upper end, and not vice versa?
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EU{/j pf water - -d nwake & g20d Coell
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Why should the distillation flask be filed not more than two-thirds of its

capacity?
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6) Explain the role of the boiling stones in distillation
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2) Suggest another possible method that might be used to obtain essential oils

the spices.
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3) At 95.5 °C, the vapor press'u're. of water is 600 mrﬁ and that of bromobenzene is

150 mm. \ Calculate the molar ratio and the weight ratio of bromobenzene to water

— e

—

when a mixture of the two -is distilled at 750 mm. (density of bromobenzene = 1.5

g/mL). =
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product of reaction of
S
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3) How could you distinguish between
— @
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ﬁfh 4) Draw the product of the following reactions
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2-butanol'with Lucas reagent \
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I-butanol with sodium
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Give two reagents that give positive test tube reaction to indicate '.
an alkene. Write an equation in each reagent
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III. How could you distinguish between t-bﬁtyl chloride and n-butyl chloride

1) Give the reagent

/’\j Nog L/

2) observations
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/( F ) Soluble impurities were removed first. then insoluble impurities in

/ the recrystallization exp. |

/ (T )In thg extraction exp, dividing the total volume of extracting
solvent is more efficient than to use the whole volume in a single
extraction.

.‘(. = .

{ T ) The mass of the crude sample is 1.0 g and 0.8 g of the purified

one, the vield is 80%. '

Q2. Complete the following:

- / Anhydrous, sodium sulfate may be used in the extraction exp.

U to. Sadisaro) the. . aoter.. Bn.. the... ofganic... phese. ...

- {/A.‘.mid shaking during the caffeine extraction

/J since....Ph... 021l Cawse... .amuisfons........ ...

% Caffeine substance should not be heated for a longer time
since... 06....cherompeses. Deadilv . . RO T ..

- In the recrystallization exp, the flask should be removed from the

i"/ heat source before adding the charcoal to it
5 aveltd. .. ‘pr‘ﬂﬂ .0 ’C)"C . Seluklen .

THe solvent-pair may be used in the 1'ecrystalhzat1 SXp
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| Q3. Show by chemical equation .
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Q4. The excess phosphoric acid was removed during the experiment

by..aiddiaey...... Sadivm.. catosnate. NepCa. Osase)

Q5. Calculate the percentage vyield of cyclohexene knowing that the
actual yield is 0.25 g and molar mass of cyclohexene 82 g/mol,
cyelohexnol 100 g/mol, density of cyclohexene 0.81 g/ml and the
mass of cyclohexanol is 10 g? - PR '

Yodie 14
cyclonexens) t Cyelohexene

\0 ¢ cyciohexanol y ) me) Cyclonexemoal o\
100 & cyclohexemol = 1
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g = 085 = 306 %
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